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run#87 (pedestal run) ADC histograms
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run#87 (pedestal run)
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ADC histograms
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run#34 trigger (ADC)
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Slewing Correction (ADC-TDC)
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Slewing Correction (ADC-TDC)
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BH2-1-1
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Slewing Correction (TDC)

- time1
- Entries 7965
400:— Mean 113.5
- RMS  0.3467
3501
3001 0=0.304136
250(—
2001 ""b
150
100
50—
: ||
_ T
910 111 112 113 114 115 116 117 118
tdc(ns)
= time1
5001— Entries 7965
= Mean 114.4
C RMS  0.3158
400~ 0=0.26622
300—
200—
100—
_III |] IIIJ llhm |.”\!‘.l l-llllllll[ll
10 11 112 113 114 115 116 117 118

tdc(ns)

time2
350 r Entries 7965
C Mean -0.01494
- RMS  0.2457
300—
2501 0=0.198761
200~
150
100~
50
O—IIILLLJ IIII|IIII J.JIIIIJIIII
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2
tde(ns)
_ time2
C Entries 7965
- Mean -0.01555
350:— RMS 0.2241
30005=0.179128
250
200~
150
100
50—
0:I.III|I,ILF~-IL IIII|IIII IIJIIILIIIII
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2
tde(ns)



BH2-2-1
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Slewing Correction (TDC)
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Plan

make a slewing correction for the upstream/
downstream trigger counter

calculate the intrinsic time resolution for BH2
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